N & o & AF &2 H Ml A
20098 = =0l A L BES|H|
2N SARED
B o0l SNEN(SYHYLL/5Y - 5E)
el SEME HeipX LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
sYdSW 20,913,261 16,737,486 4,175,775
= 6,620,952
s 1,200,000
Il 379,462
= 95,564
& 2,792,925
= 9,824,358
=90 SIS (sl d/sg - &) 1,802,554 2,005,929 A~ 203,375
= 69,917
s 330,000
| 5,280
=2 95,564
= 315,511
= 986,282
SEME Z585A# 929,935 1,122,005 A192,070
s 10,000
| 5,280
&2 95,564
= 145,647
= 673,444
sZol =Xlgta 412,700 320,000 92,700
&2 95,564
i 317,136
202 O4Hl 3,500 0 3,500
03 =2YFAHl 3,500 0 3,500
0121014 ASHASIE STXIAS Ol
1,750,000& x2H 3,500
301 Lptsazg 334,000 320,000 14,000
= 95,564
= 238,436
02 Zs=zdsi= 320,000 320,000 0
OZHWEANAS 320,000
—sgelNNATH NS XR
800, 000& 400 320,000
& 95,564
i 224,436




SN sAXED
Ha: =00l SNSA(SHHYSM/5S
ol SEME Besix e

_ _ _ Muo
SN ZB - SR(BH) - NRAY - BES 0l &k 24 e HlnE2
TEEEREET 4,000 0 14,000
0121014 AS Tas)} 2014
1,750,002 16 %50/ 100 14,000
402 QIR OIF 75,200 0 75,200
01 PRARESE 75,200 0 75,200
OFST Ha Al X
3,000,00021+10%S 30,000
0121014 SRS T AY 45,200
—2A2 JIBAE TR (M)
100,000, 000! *40/ 100 40,000
—AMTHA(ZEH) THEHAIE X2 (Z32)
13,000, 00024 *40/ 100 5,200
SE245 X2 141,810 42,480 99,330
201 Ysregyl 4,480 3,080 1,400
01 AR el 4,480 0 4,480
Oszuoga+Y 70,0002 %22 +23] 3,080
OsEzgsNe =7 7,00024 %102 +202 1,400
202 o1t 4,800 4,800 0
01 =Uofb 4,800 4,800 0
SELIE 4,800
—=FYR =7 60, 00021 42§ x202 4,800
203 YREAY) 4,000 3,000 1,000
I EEREEETY 4,000 3,000 1,000
OsFYP L 5)HAS =&
4,000,000 17§ 4,000
01 YL 8,530 31,600 £23,070
10 BAMHEAS 8,530 9,100 AB70
OsUZYLH SL0S 68,0002+ 10 680
OsXZASAY DS 68,0002 *20% 1,360
OsZAAY SLDS 68,0002 % 10% 680
OSZAMESEI} U AHDS 3,010
-59 68,0002 *20% 1,360
—Zu 55,0002 +30% 1,650
0121014 AS 245t B3l 29
7,002 %200% +23] 2,800




SRS
Solol SXEH(SYHLS4/5Y - 5E)
SEME B 2 el
SA - EH .S (BH) - MBAY - B Ao gggﬁ HRS2
307 QI2H0|H 0 0 0
02 OI2tFAE X 0 0 0
Os2df(AISs0H) SAXH o0& 0
402 QI2EX=0|H 120,000 0 120,000
01 QI2X=2BEXR 120,000 0 120,000
SEMEEA AYAS
10,000, 000! 201 2~ x60/100 120,000
H2AHM40H sSEXA 25,000 0 25,000
206 W2l 25,000 0 25,000
01 =Bl 25,000 0 25,000
OEZANH MELHE S0 4
30,0003 *833.32kg 25,000
AN SHAMY 270,000 678,000 408,000
= 135,000
iy 135,000
402 QI2tX 20| 270,000 78,000 192,000
& 135,000
iy 135,000
01 QX2 EX 270,000 78,000 192,000
OZHIEXZ AL 270,000
—SAFH2ZAMO MBI JISAIE XA
& (200m") 270,000, 000& * 1A 270,000
= 135,000
o 135,000
SSALBX 22 53,225 53,225 0
== 10,647
iy 42,578
201 B2 IH| 53,225 53,225 0
& 10,647
iy 42,578
01 AR 22|l 53,225 0 53,225
OZHIE XA 53,225
— S SYAREREN 2
80,400& 6625 53,225
o= 10,647
= 42,578
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S E O (EH) - MBAIY - B sy e RS2
sX2e?3s2EX 13,200 14,300 A 1,100
| 5,280
= 7,920
201 L3 13,200 14,300 21,100
| 5,280
i 7,920
01 AtR2teldl 13,200 0 13,200
OP[EVNE 13,200
—ERZARSH (1104)
13,200,000& 13,200
| 5,280
o 7,920
USRI Y S 14,000 14,000 0
s 10,000
= 4,000
206 M=l 14,000 14,000 0
s 10,000
= 4,000
01 &l 14,000 14,000 0
O SSAHA 14,000
— = MEQIHY LI (56H0) 14,000,000& 14,000
s 10,000
i 4,000
st 2 e 872,619 883,924 211,305
= 69,917
s 320,000
& 169, 864
i 312,838
sM=ZXE0= 2,000 0 2,000
401 AEHILSHY 2,000 0 2,000
01 Al&HI 2,000 0 2,000
O=M=&UE0IS oF 24
2,000,000 * 14! 2,000
22X ANELEX XA 75,000 0 75,000
401 Al&BIZL20HYI 75,000 0 75,000
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o9l S0t 3 HA Rk
SA - EH .S (BH) - MBAY - B Ao ggi HRS2
75,000 0 75,000
() &x
250, 000& *300m 75,000
48,400 67,200 A 18,800
= 35,000
& 6,700
iy 6,700
48,400 67,200 A 18,800
= 35,000
= 6,700
2 6,700
48,400 67,200 A 18,800
48,400
(6IHA)
48,400,000& 48,400
= 35,000
< 6,700
= 6,700
& 10,800 10,800 0
= 6,000
= 1,800
iy 3,000
10,800 10,800 0
= 6,000
& 1,800
2 3,000
10,800 10,800 0
10,800
ESOVE=INERQ P
900,000& x1H *12& 10,800
= 6,000
== 1,800
o 3,000
sdolgsE s K& 176,924 176,924 0
= 81,675
o 95,249
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=NEH(SEHY LS - BE)

22 d (crel: & 2
HE . O (BH) - NRAY - BYS 01l &+ o4 Soe s
o120l & 176,924 176,924 0

& 81,675
= 95,249

283 176,924 176,924 0
SHIEXZAS 176,924
— =2 Mol 2 & XA (296=0t)

100,000, 000& 100,000
& 50,000
i 50,000
— SIS MK (6,754 )
76,924,000 76,924
& 31,675
i 45,249
A4 (=g sy 84) 140,000 210,000 270,000
s 100,000
& 12,000
= 28,000
RItXt=01 ™ 140,000 210,000 A70,000
s 100,000
L= 12,000
= 28,000

QI tEE X 140,000 210,000 A70,000
TS H AL 140,000
—EHYYMASH (HAIRS 25)

140,000, 000& 140,000
s 100,000
< 12,000
i 28,000
HESH(MHRE 0I28 IBMEEH) 308,000 392,000 284,000
s 220,000
L= 26,400
= 61,600
QI2tX=01 & 308,000 392,000 284,000
= 220,000
& 26,400
= 61,600
QI tEE X 308,000 392,000 284,000
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HHRsY SH(SYHSSM/5Y - 58)
ASHES M XS

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Niassg9 84 T 7,200
iy 7,200
402 QIZ2EXHE0| S 14,400 95,000 A 80,600
== 7,200
iy 7,200
01 QI2X=2EX 14,400 95,000 /80,600
OEHIEXZ A 14,400
—SeagiE TR AI (60X 0H)
14,400,000 14,400
== 7,200
- 7,200
MASEEMDNHIEH 3,651,268 3,651,268 0
= 3,651,268
201 eIy 2,000 4,268 N2,268
= 2,000
01 AR 22|l 2,000 4,268 N2,268
O=HIEXZ AL 2,000
—AAES BEHYNEXN=H SFZH|
2,000, 000& 2,000
= 2,000
202 O4Hl 2,268 0 2,268
= 2,268
01 =ZUWdHI 2,268 0 2,268
O=Z2HIEXZ AL 2,268
—MASEBAMIZH =X 2,268,000& 2,268
= 2,268
402 QIZ2HXE0| M 3,647,000 3,647,000 0
= 3,647,000
01 QI2X=2EXR 3,647,000 3,647,000 0
O EFAY 3,647,000
—NAESHMAET S H AL (5,210ha)
3,647,000,000& 3,647,000
= 3,647,000
A2 XNGRAE X =2 H 431,371 532,960 A 101,589
= 301,959
= 64,706
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=0l (YWY =
ool ASXE M X8 LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
TAHECIXNSE XN E X =E M iy 64,706
202 O4Hl 17,113 6,880 10,2383
= 11,979
= 2,567
iy 2,567
01 ZUWdHI 17,113 6,880 10,233
O=2HIEXZ AL 17,113
—ZA=2XNSE H=H (bl 17,113,000& 17,113
= 11,979
= 2,567
o 2,567
402 QIZtXIE0| A 414,258 519,200 N 104,942
= 289,980
= 62,139
iy 62,139
01 QI2tX=2EX 414,258 519,200 A 104,942
O=ZHIEXZ A 414,258
—X2AE2XY MNEHM EX2(1,040na)
414,258,000& 414,258
= 289,980
== 62,139
o 62,139
EASHAMNEXNEM 287,850 159,250 128,600
= 287,850
402 QIZ2EXE0| & 287,850 159,250 128,600
=2 287,850
01 QIZX=2EXR 287,850 159,250 128,600
O2HIEFAY 287,850
—AEA = ZE X2 M (350ha)
287,850, 000& 287,850
= 287,850
ELMSREX 312,000 287,982 24,018
= 218,400
= 21,840
iy 71,760
402 QIZ2EX =0l 312,000 287,982 24,018




M S
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=L

=2 Sd(=ga S&E
ool ASXE M X8 LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 SI2EXt=01 & = 218,400
& 21,840
= 71,760
01 QtR=8=x 312,000 287,982 24,018
O=HIEX= At 312,000
—E 2N H K& A (3,000 )
312,000,000& 312,000
= 218,400
& 21,840
i 71,760
sl =4 388,000 414,000 A 26,000
= 194,000
& 58,000
= 136,000
402 QIZHXE01H 388,000 414,000 226,000
= 194,000
& 58,000
= 136,000
01 QtR=Ex 388,000 414,000 A 26,000
O=HIEXZ A 388,000
— X=X =4 AL (19.6ha)
388,000,000 388,000
= 194,000
& 58,000
i 136,000
=HI&2 SNHUAR 592,400 42,000 550,400
= 296,200
& 88,860
= 207,340
402 QIZEXE0|M 592,400 42,000 550,400
= 296,200
= 88,860
= 207,340
01 QR=Ex 592,400 42,000 550,400
O=HIEXZ A 592,400
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s SH(sLHY =&
Sl ASXS M4 X2 (9l &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 glggig B2
—=HI=ZSZx0 X (2,100na)
592,400,0002 592,400
2 296,200
= 83,860
2 207,340
SIIEE Yl X 2,346,000 854,508 1,491,492
= 897,000
= 280,000
2 1,169,000
402 QIR+ OIF 2,346,000 854,508 1,491,492
= 897,000
= 280,000
2 1,169,000
01 DAN=Tx 2,346,000 854,508 1,491,492
OETEE IV 2,346,000
—SIIZEHI ST AR (1,3808 T)
2,346,000,0002 2,346,000
2 897,000
= 280,000
= 1,169,000
BAMAD|E F A 76,440 76,440 0
= 28,660
2 47,780
402 QIR+ OIF 76,440 76,440 0
= 28,660
2 47,780
01 CIAN=ELE 76,440 76,440 0
OZHIEF AR 76,440
— DB MM A X E A AL (130ha)
76,440, 0002 76,440
= 28,660
2 47,780
SoMA DR 4,010 3,500 510
AEY AN M DG 1,650 1,500 150
01 YuBAZ 1,650 1,500 150
10 SAAUIZAS 1,650 1,500 150
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2N SARED
i HBPse SH(SEHYN/5Y - 5E)
Sl SMA DS (9l &2)
5 o SIEN
SN-EHH . SH(BH) - HPAY - BE2 Ao il b o B2
OF&EY U+ S MMDS 55,0002 *302 1,650
I} B] N 2,360 2,000 360
01 YuBAZ 2,360 2,000 360
10 SAAUZAS 2,360 2,000 360
Ooiztel =J1H B &It
59, 0002 *20% *23] 2,360
=I1 X2 491,600 320,400 71,200
= 71,100
2 420,500
=I1H XA 331,000 225,000 106,000
402 QIAXE0|H 331,000 225,000 106,000
NIRRT 331,000 225,000 106,000
OsII2 TR A 331,000
—EHIA T 5,000, 0002 *20CH ¥50/100 50,000
—SHED| 3,000, 00024 *30CH 50/ 100 45,000
—22AZD 7,000, 0002 *20CH50/100 70,000
L EEES] 5,000, 0002 *50CH ¥50/100 125,000
—E2012)) 1,600, 0002 *20CH %50/ 100 16,000
— ATz 2,500, 0002 *207H 4 *50/ 100 25,000
=J1H Sl N 160,600 95,400 65,200
= 71,100
2 89,500
402 QIR OIF 160,600 95,400 65,200
= 71,100
2 89,500
RS 160,600 95,400 65,200
OZHIEF A 160,600
— SIS HIXIR AR (300CH) 160,600
cemel)l
1,800, 0002 *100CH*30/ 100 54,000
= 27,000
2 27,000
L EELEb]
4,300, 0002 *20CH %60/ 100 51,600
= 25,800
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- AsEEDI 200, 000& »30CH 6,000
= 1,800
i 4,200
R R AT 500, 0002 *50CH 25,000
= 7,500
i 17,500
SEEEPEES]
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< 9,000
i 15,000
EdsY MK 1,115,758 853,534 262,224
= 58,303
& 43,728
2 1,013,727
ABH YUK SA 430,000 82,000 248,000
402 QI2HGE01M 430,000 182,000 248,000
01 2UAXR2EX 430,000 182,000 248,000
OHESAVLEHAS SN
3,000,000 *100ha*50/ 100 150,000
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200, 000& *400ha 80,000
ONSAU LSO MSH B4 X2
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OFEA=HIHS X 200, 0002 %500ha 100,000
&b HEH KI&AHS 540,000 525,000 15,000
402 QIHGE01M 540,000 525,000 15,000
01 QUAR=2EX 540,000 525,000 15,000
OFEY SLUT SHXIL 540,000
~QSEXH K
70,000% x15,000& *50/ 100 525,000
—dN=E48E 3,000& *10,000£*50/100 15,000
dEEZ A0S HSLYMA 145,758 141,400 4,358
= 58,303
= 43,728
= 43,727
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SN SURED
By FTA DEX DM (STHSL/5Y - 5E)
Sel: DEI UMM X L DS (S92l
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
01 M=z 20,000 0 20,000
OSULOIZ BYRL AlYl 2
20,000, 00021 # 19} 2 20,000
402 QIEX =01 M 34,045 30,638 3,407
01 QtR=8=x 34,045 30,638 3,407
OSHLOIZ BYRY X NRAL 32,500
— S0l 2 & H 32,500
+1.0kg 8004 +20, 00004 %50/ 100 8,000
- 1.5kg 980:& *50,00001*50/100 24,500
OF2LUS BEANY
5,000& 1032 *63| %50/ 100 1,545
FTADI2 K& ALY 5,500 5,000 500
Il 5,500
201 LEHRHH| 1,440 1,170 270
Il 1,440
01 A2l 1,440 1,170 270
OIS MY 1,440
—FTADHS SOHBHAIY =T Y|
1,440,000& 1,440
J| 1,440
202 Oddl 2,660 1,400 1,260
] 2,660
01 SLHAbI 2,660 1,400 1,260
OJI= At 2,660
—FTADI% EOHBAIY 23 Oft]
20,0003 *133 2,660
p) 2,660
01 YeBa2 1,400 2,430 A1,030
Il 1,400
10 BAIAHIENS 1,400 2,430 A 1,030
OJ1SAY 1,400
—FTADACHT MADISDS BAT EA
7,000& 200 1,400
| 1,400
WHEHBHHH X 12,817 49,810 A 36,993
= 6,409




AN sEIED

B FTA DEE BN (SYHYLN/5Y - 5E)

Chol: DEX UMM X Y DT cHol H )
SN I SRI(S) - NRAY - B sk Soe B RS2
R HREHSH X S 2,563

= 3,845
307 QI2toIA 12,817 49,810 A 36,993
= 6,409
= 2,563
= 3,845
02 QtFAE X 12,817 49,810 236,993
OB 2FAY 12,817
~ BRHYRAHIXH (7.2ha)
12,817,000& 12,817
= 6,409
< 2,563
i 3,845
Z2AZsEHE SN 27,600 22,080 5,520
308 AHXIHXMSOIH 27,600 22,080 5,520
05 XXSHARES 27,600 22,080 5,520
OJIZAE 27,600
~ NS dgzoasuc s41
27,600,000 * 108 2 27,600
MAA LSS 600,000 618,000 A 18,000
Il 300,000
& 120,000
= 180,000
402 QIZEXE01H 600,000 618,000 A 18,000
Il 300,000
& 120,000
= 180,000
01 QX=X 600,000 618,000 A 18,000
OJIZ MY 600,000
—FTAZt=S L 3t AL S 600,000,000& 600,000
Il 300,000
= 120,000
s 180,000
NASSAS (B RAUSH3}) 728,000 600,000 128,000
s 520,000
= 62,000




FA: sEHAUSH
HH: FTA DB UMM (SHHS 4/ 5
Chel: DEX DaMA XY L DS (cHel: &)
SN B GQ(E) - HIRAY - E ko ﬁf&a HluSz
NASSMG (LR SHE = 146,000
402 QIEGE0IM 728,000 600,000 128,000
s 520,000
< 62,000
= 146,000
01 BIAX=2E=x 728,000 600,000 128,000
OZS3AHAMZ 728,000
—SARLTSHEAY 728,000,000& 728,000
[ 520,000
[ 62,000
[ia 146,000
D= ATHEH K2 634,500 3,000 631,500
= 317,250
= 317,250
402 SI2tt=0ld 634,500 3,000 631,500
= 317,250
= 317,250
01 BIZX=Ex 634,500 3,000 631,500
OZHIEZAY 634,500
— =M (SSM) XA
25,000& *200kg*50/100 2,500
= 1,250
s 1,250
— 10X AFLEX ZEAY
42,134,000& *29.9995ha*50/ 100 632,000
= 316,000
s 316,000
2ol SSH= Mol 1,483,950 767,980 715,970
S 563,350
= 920,600
NSE FuHE=SXE 205,000 180,000 25,000
402 2ItX+=01S 205,000 180,000 25,000
01 BIZAR=2Ex 205,000 180,000 25,000
ONZE A= SHXIAY 205,000
—AN&oteA 25,000& *10,000m" x50/100 125,000




SN sHTED
HH: FTA DS B (SHSHM/5 - 55)
CHel: 20 E=22 K (&te &2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
—=SEAy 2= 8,000,000 x20Z+50/100 80,000
EXNE 24X 77,450 42,000 35,450
402 QIZtXH=0|H 77,450 42,000 35,450
01 DIZtXEE X 77,450 42,000 35,450
O=2X MUK AKX ALY 77,450
—AREA 4002 8. 0hax12,0002=+50/100 19,200
— 2 Ep e 8,000,000 x72+50/100 28,000
—HIDIEAIA 60,500,000 *1.0ha*50/100 30,250
ANETA ST 1,175,000 345,980 829,020
[= 552,750
= 622,250
402 QIZHXH=0|H 1,175,000 345,980 829,020
[= 552,750
= 622,250
01 RIZtXE8X 1,175,000 345,980 829,020
OZHIEZ A 388,000
—2ESHALBAALA (5HA)
47,000,000 8. 0ha*50/ 100 188,000
[ 94,000
= 94,000
—ANE2Ux=EsI ARUSEHEXA(5.
1ha) 40,000,000 *5 . tha*50/100 102,000
[= 51,000
= 51,000
—L)|2D 224 J|INHARAY
12,800,000 *15.0ha*50/ 100 96,000
[= 48,000
= 48,000
—SA2 OHE M A 20,0002 *100H 2,000
[= 1,000
= 1,000
OSHIBZAMY 787,000
—MI|I2ZED| &X(10CH)
6,600,000 *10CH 66,000
[= 24,750
= 41,250

_20_




AN sgIE
HE: FTA DEX BN (SHHSSL/5Y - 5E)
el 0l SBRES U (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
—ELZ2IIF =X AMESHIME(
Al) 480,000, 000& 480,000
== 240,000
- 240,000
— L S3IRAAEINAE X (20S)
108,000,000& 108,000
== 54,000
o 54,000
—ZEIAAEBIRA AIES BRI (15S)
133,000,000& 133,000
== 40,000
o 93,000
33| AKX & 26,500 0 26,500
= 10,600
iy 15,900
402 QI2tX 20| 26,500 0 26,500
& 10,600
o 15,900
01 QIZX=2EXR 26,500 0 26,500
OZHEF A 26,500
—StEaE SHXA
66,250,000 *0.8nha*50/ 100 26,500
o= 10,600
= 15,900
EMSI ASESUH (sl /sY - =) 3,064,716 2,256,596 808, 120
= 636,082
J| 68,682
== 516,157
iy 1,843,795
SN AN SEA 1,720,797 1,122,307 598,490
= 325,350
| 29,530
& 288,414
iy 1,077,503
LEE SNE o 25 554,060 517,300 36,760
307 QIZtolA 193, 560 80, 100 113,460
02 OI2tHAE X 113,160 0 113,160
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2N SYURED
M SAE) ASSH(SEHSSN/5Y - 5E)
Sl EAY MANY B4 Rk
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o bRz
OYE ZANZMN BXH N
220, 0002 *380ha*60/ 100 50, 160
OBOIXIMAOHY Al 10,0002 %2, 8005 28,000
OsLERINMY N 10,0002 %3505 35,000
06 &2 80,400 80, 100 300
ONEZHANY N (22L2)
536,000, 00021 *15/ 100 80,400
402 QIR0 360,500 436,000 AT75,500
01 IATRLE 360,500 436,000 A75,500
OsteyIY 23
7,500 16,0002 Z *50/100 60,000
OF2 AAB4H NAAY  20,00020+5,0005 100,000
OE2S= NRAMY 6,00021%10, 0005 60,000
Oste DZSUA Al XY
20,0002 *1,0005 20,000
OXA 2TFY 7Y MY
40,0002 9002 Z+50/ 100 18,000
OBE Y ST (HAS)ML ALY
400, 00024 *1005 *50/100 20,000
OS2X 0l &0isIt ARl K&
11,0002 %6, 000% *50/ 100 33,000
OYE JIX K& 42,000
— Y EE 600, 000! *407H*50/ 100 2,000
—5233 4,000 15,000kg*50/ 100 30,000
OEEE 84 X 08l 0
ORA RUANYAE X2
12,5002 +1, 200kg*50/100 7,500
IISAME WA 5 309,527 221,077 108,450
] 29,530
= 131,439
2 168,558
307 2120l 70,140 21,690 48,450
] 29,530
& 15,565
2 25,045
02 QINHNEZE 48,450 0 48,450
OIS AL 48,450
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SA: FE=anl}
. S0t ASEH(SEHLS/5Y - 58)
cHe| MAbS SFA (92
i} _ _ bolEN=
cHH 2 (S H)  NEAY - HES A oH @;OH Hl =2
—ADJ|018 F=RAY(HESLE:3,4405)
34,400,000 34,400
] 15,480
[ 6,880
= 12,040
—A0J1018 =HHONAM22:11,2405%)
14,050,000 14,050
] 14,050
282 21,690 21,690 0
OZHIEZ ALY 21,690
—JI=ZH AL 21,690,000 21,690
[= 8,685
= 13,005
QI2LXH=0| & 259,387 199,387 60,000
[= 115,874
= 143,513
DIt =E X 259,387 199,387 60,000
CHIBEAY 259,387
—HA MRS AFHAY 18,0002 x 1805 3,240
[ 810
= 2,430
—8t2 HAHAI=Hl XI2(1,3205)
15,0002 *1,3205 19,800
[ 3,960
= 15,840
— BRI ALY X 20,0002 *1,7605 35,200
[= 5,280
= 29,920
—BIRESEANY X 6,000 %2, 2005 13,200
[= 3,960
= 9,240
—U=¥H XN 12,000, 000%2H 24,000
[ 9,600
= 14,400
—S=2S3 AFZAIE DA AR (3TH)
3,000, 0002 *3CH*60/100 5,400
[= 2,700
= 2,700
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FA: =
X o ASEU(SEHLF/5Y - &)
cHel: At EAL
i} _ _ bSNE =
cHH 2 (S H)  NEAY - HES agell OﬁEOH
— U2 A AXRINMEAIY (3E)
164, 245,000+60/ 100 98,547
< 29,564
= 68,983
—SRNI M SAAEH X
60,000,000 17 A 60,000
[= 60,000
TAE MAD|IBE = 174,210
[= 55,680
= 118,530
QI2t K20l & 174,210
[~ 55,680
= 118,530
IZItEE X 174,210
CHIE X ALY 174,210
—AESIHH AT AL M AZH| X2 (60H)
48,000,000 101 A 48,000
[ 14,400
= 33,600
— XA M AR ZHI X (175ha)
84,000,000 84,000
[ 25,200
= 58,800
—AESSIHAZAR2RUHIXIR (1,750€
) 30,0002 * 1,750 50/ 100 26,250
[= 10,500
= 15,750
—Al2X2 ZS XX (400ha)
12,000,000 12,000
[= 3,600
= 8,400
—SE S ZAME AL2IX 25 DIME
Z=(88H) 75,0002 *887H *60/ 100 3,960
[ 1,980
= 1,980
Y NER LS YHAEAMY 663,000
= 325,350
[= 101,295
= 236,355
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AN sgIE
BE: BMS) ASSH(SHHSSA/5Y - 5E)
ol BAY MAY EA (el &2)
SA - EH .S (BH) - MBAY - B gggf; HRS2
307 QIZ2+tol A 130,500 0 130,500
= 65,250
= 19,575
iy 45,675
02 QUHBAEX 130,500 0 130,500
O=ZHIEXZ A 130,500
~AYNELEHOZAAE (BN DT 6E)
130,500, 000& 130,500
= 65,250
< 19,575
o 45,675
402 QIZtXIE0| A 532,500 0 532,500
= 260,100
= 81,720
o 190,680
01 QI2tX=2E X 532,500 0 532,500
O=ZHIEXZ A 532,500
—AHANERSREHAH(NE2EX 8E)
532,500, 000& 532,500
= 260,100
== 81,720
o 190,680
IIEE5He 495,880 482,980 12,900
= 93,400
== 63,890
iy 338,590
HEE SMERXe N3 235,700 100,000 135,700
402 QIZtXIE0| A 235,700 100,000 135,700
01 QI2AX=2EX 235,700 100,000 135,700
OS2 S2EH ML AL
2,500& *60, 000X x50/ 100 75,000
OFat=sIt SEINEH A&
5,000& *15,000kg*50/100 37,500
OF2 dFMZTAIE &X XN
11,000, 000& *16CH*70/100 123,200
EMESHel (HEAE) 47,500 124,500 AT7,000
= 28,500
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FN: SEIEL

Zu: 2as)l ASEU(SYNYLN/EY - BE)

&Rl JH=E2eH (Et9|:® <)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
SMNZEHel(OHEAIE) S 5,700

= 13,300

402 QIEXE01H 47,500 124,500 AT7,000
= 28,500
& 5,700
= 13,300

01 BIZEXI=22 =X 47,500 124,500 277,000
O=HIEXZ AL 47,500

—SMERMAOIEAIE 5H)

47,500, 000& 47,500
= 28,500
= 5,700
o 13,300

EMEo el (HUHHEX) 54,400 163,200 A 108,800
= 20,400
& 10,200
i 23,800

402 QIZEXE01H 54,400 163,200 A 108,800
= 20,400
& 10,200
i 23,800

01 BIZEXI=22 X 54,400 163,200 A108,800
SELEE IV 54,400

—EAREHE (U HEE)

17,000, 000:& *4 4 2 +80/100 54,400
= 20,400
& 10,200
o 23,800

SN2 el (HHEE224D]) 24,000 0 24,000
= 12,000
& 3,600
= 8,400

402 QIZHXE0|H 24,000 0 24,000
= 12,000
& 3,600
= 8,400
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SA
X XH .
(=

chel:

=

2o
Mz e
AL O A
Fr 52 0
bl
Jn
Ol

o

.S (2AH) - MBAY - BES

22
J2

20
B
2

=5}

24,000,000 * 101 £

H

Mo

24,000

24,000

24,000
12,000
3,600
8,400

HooW

M

65,000
32,500

9,750
22,750

[m]
U

r
:

Moo

M

65,000
32,500

9,750
22,750

65,000,000 101 £

H

Mo

65,000

65,000

65,000
32,500

9,750
22,750

H

A

69,280
34,640
34,640

69,280

H

H

69,280
34,640
34,640

69,280

Hh

b >FXEH KA (323E)

80,000& *x323&

AbsOF 2 H SR OHA AP (10,700kg)

3,000&+10,700kg

Mo

H

69,280

69,280

25,840
12,920
12,920

32,100
16,050

69,280
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2A: sg&EN
3 EMsI ASSUH(sEMHSFHAH s - s8)
@®He: JIEsERHal CER:E
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
= 16,050
— = AAIA SHIONE AN (210H)
540,000& *21CH 11,340
T 5,670
= 5,670
Irs&Yae 406, 288 408,365 N2,077
= 70,490
= 77,467
iy 258,331
=&Y olgr2e| 149,720 145,070 4,650
101 1A H| 8,000 0 8,000
10 JIZHZ22XNsSES 8,000 0 8,000
Ol =2g 2 BEXIARE AL
32,000& x 14 «250 8,000
201 LEE29H| 3,760 2,800 960
02 =329l 3,760 2,800 960
OA Ex24eY MEed AtlEse =
120,000& x8H 960
OaXE IIEEANEIIRAE =&
70,000& 203 x2H 2,800
202 OdHl 960 720 240
01 =2UWddI 960 720 240
O30l Ab 04| 960
— 2L O B 80,0003 x12& x1H 960
206 MZ=HI 101,000 70,550 30,450
01 MZHl 101,000 70,550 30,450
O=sdEY HYsE 2L
10,000& *1,500kg 15,000
OYUAHMAEZE 0|SA UHASII(ULV) 7
Q! 9,000,000 *34! 27,000
OA B24dety 22X I 2 (38)
100, 000 *40H 4,000
Oudie 2HoY *d=272
5,000& *2,0004 10,000
OJtsdgY gy 2132 Ha 2
10,000& *1,500M E 15,000
OJI=EEL HHLESH +L 40,000& x750kg 30,000
301 LeEAS3 25,000 60,000 35,000
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2N SYURED
U BAsIl ASSH(STHLTN/SY - 5E)
el DS EH A (5 &2
: _ o HEC -
SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
12 JlErE A= 25,000 60,000 235,000
O B2ty ME4Y  10,00022,5005 25,000
307 21201 H 11,000 11,000 0
SEEEEEET 11,000 11,000 0
ORJISE Iz L 22| 50,0002 x205 3,000
OFY ou= AXE Heltl
400, 00021 #2021 8,000
= Fy oY 113,600 97,360 16,240
= 49,840
2 63,760
201 LPr2yl 57,600 57,600 0
= 23,040
2 34,560
02 ZZ=2YHI 57,600 57,600 0
OSHEE AL 57,600
—Z2409 £2(6%) 800,002 6% 1202 57,600
= 23,040
2 34,560
206 W&l 44,000 39,760 4,240
= 22,000
2 22,000
01 et 44,000 39,760 4,240
OSHEE A 44,000
—OIEHYY ASUHE 2 (550S)
80,0002 ¥550% 44,000
= 22,000
2 22,000
402 QIR+ OIF 2,000 0 2,000
= 4,800
2 7,200
REFEEEES 12,000 0 2,000
OSHEZAL 12,000
—ENASAE LI
3,000, 00024 *8H %50/ 100 2,000
= 4,800
2 7,200
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FN: SEIEL

Hm: =aE)l 2SS s&)

o9 JEEY A (S5 &)
SN S(B) - NRAY - B2 Aro e =2
NEASE L 2HA 89,348 69,880 19,468

= 54,404
= 11,541
= 23,403
206 M=l 89,348 69,880 19,468
= 54,404
= 11,541
= 23,403
01 MZHl 89,348 69,880 19,468
O=bI2 E A 89,348
—sAEGY ole R2HALE(1,275,400%
) 89,348,000& 89,348
- 54,404
= 11,541
= 23,403
s=24det MHEEH 53,620 32,060 21,560
= 16,086
L= 16,086
= 21,448
301 Lptsazg 53,620 32,060 21,560
= 16,086
= 16,086
2 21,448
12 JIEI2 A3 53,620 32,060 21,560
O=2 N8 XA 53,620
—4 S2Md HEEH
7,000& +7,6605 53,620
= 16,086
= 16,086
i 21,448
Sz 274,406 236,344 38,062
= 121,842
Il 3,000
= 60,722
= 88,842
=L AFA 8,120 0 8,120
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SN sYXED
HH: =As)t ASSH(SEHS SN/ 5Y - SE)
el JpEsEeipe (£ @8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
201 er2o| 4,520 0 4,520
01 At 22l 4,520 0 4,520
O = HAURAZA 22K SAH
2 7,000% +2 % *802 1,120
OJEYAS ASHAIIZS MH
1,0002 %2,000% 2,000
OJ=got gojsl 294y
70,0008 *5% *43| 1,400
202 OiHl 3,600 0 3,600
01 =Uhotyl 3,600 0 3,600
OASZMEIY AT AB +5(2)
60,0002 * 1% *602] 3,600
OtEEe ZHIXH 20,000 57,500 37,500
402 DI2FXHEOIF 20,000 57,500 A87,500
01 SIAR=EEE 20,000 57,500 37,500
O=oHsD} 0154 ASEY| K&
500, 0002 *20CH*50/ 100 5,000
OLESIH DAXNHI| X &
5,000, 0002 *6CH*50/ 100 15,000
TSYHG W2 7Y 44,567 39,248 5,319
= 22,283
= 11,142
2 1,142
206 Mzl 44,567 39,248 5,319
= 22,283
= 1,142
2 11,142
IEETI 44,567 39,248 5,319
O2HIBEA 44,567
—TEYRS HE 7Y
571.3721%78,000kg 44,567
2 22,283
= 11,142
2 11,142
TSYHY 2 139,919 122,796 17,123
=2 69,959
= 34,980
2 34,980
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FN: SEIEL
BE: B0 ASSH(SHHSSA/5Y - 5E)
chel: JlEg B LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0lA 139,919 122,796 17,123
= 69,959
= 34,980
= 34,980
02 BltFAE=X 139,919 122,796 17,123
ORI T AL 139,919
—3SYHH 2L (38MHH)
2,700.08& *2,5915 +203| 139,919
= 69,959
= 34,980
i 34,980
=Y A48 X2 16,800 16,800 0
= 9,600
= 3,600
= 3,600
307 2IZ2t0lA 16,800 16,800 0
= 9,600
= 3,600
= 3,600
02 SltF&E=X 16,800 16,800 0
ORI BEA 16,800
—SiX ARHTE ALY T
8,000, 000& *3JH 2 +70/100 16,800
= 9,600
< 3,600
i 3,600
HACCP &g XI& 5,000 0 5,000
p) 3,000
& 1,000
= 1,000
402 QIEXE01H 5,000 0 5,000
Il 3,000
& 1,000
i 1,000
01 BIZEXI=22 =X 5,000 0 5,000
OP[EYNE 5,000
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od
’J
OF
oJ

Ko 1D
ur ™

=
0=
R0 <)
[EdEd
0 W KT

e

n0

KIo

Bl w

50,400

50,400

N292,565

H3r
uiled!
pak=

2,021,850

=
o

s

<J

20,500

Iy

29,900
50,400

20,500

iy

29,900
50,400
42,400
24,000

9,000
15,000
4,800

H

H

1,800
3,000

H

mH

2,400
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_ _ HE T
N EH - S2A(3H) - MRAE - BES Ol AF o8 Hws2
2 oie 23 731,735 724,450 7,285
= 40,000
2 691,735
s42 22 25 115,000 233,650 ~118,650
201 L2yl 71,000 74,000 3,000
01 AFR2elt] 41,000 34,000 7,000
OsSa2 S28K ME 1,002 10,0005 10,000
ORW F24E 2T HN
1,00021%10,0002 10,000
OsSHE 228 S0ty M
2,000 *2, 0000 4,000
OsSHE E28 HILEE M
5021+ 100, 000JH 5,000
ONESTGHEAY 8 sS42 2D
1,000,000 17§ £ %122 12,000
03 A2 30,000 40,000 £10,000
OFeel 2 AAT 30,000
2L AxE 750, 00021 %2004 2 15,000
=4 olg2lof 750, 00021 %207H 2 15,000
307 IOl 24,000 0 24,000
02 LABNBX 24,000 0 24,000
OsSi2 448 2N
2,000,00024 + 122 24,000
401 AlSHIL 2O 20,000 0 20,000
01 A8 20,000 0 20,000
ORHZLIZ Y7 sSHS 222 &
x| 20,000, 00021 *14] 20,000
NERTES 108,935 56,900 52,085
CIEY] 2,480 2,520 A0
10 JIAH2E2NSE+ 2,480 2,520 A0
OXNH=R L MAWHA T20| A
31,0002 42§ x202 2,480
201 L2yl 12,500 4,500 8,000
03 #Ar= ] 12,500 4,500 8,000
OH Y SHHA AABE 2
50,0002 x65 * 1531 4,500
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AN sEHUSH
= A
—

Y 542 SEEN(SYHYSL/SY - 5E)
=Pl sat= 0HE et (298
= X XH Ctel (s =] A HAX2 A} OH X‘—-IL‘E—“:— =2}
(Al

2,000, 0002 *43] 8,000
202 Ofl 2,880 2,880 0
01 =Lioit] 2,880 2,880 0

OsSHe B2 60,0002 x4 *123] 2,880
01 LerBA3 7,700 7,000 700
10 BAAHIZAS 7,700 7,000 700
ONYEH, BH S sSa2 22 B
55,0002 *5% +203] 5,500
ORs2d s &} 55,0002 *40% 2,200
402 QIR+ OIF 83,375 40,000 43,375
N EEES 83,375 40,000 43,375
OstDEZ ZAW N
5,0002 7,000 €50/ 100 17,500
O==2X +HaX 2 XY
7, 1502 *5,0007H*50/ 100 17,875
OJ2=35 EEHW KA (0HEH)
30,000, 00021 #14150/100 15,000
ODNEHHA A0 HEED(SHAL)EX
66,000,000 *15 *50/100 33,000

S42 25 F7 462,800 391,400 71,400
201 Ygreg| 14,000 10,000 4,000
03 A2 14,000 10,000 4,000

OBHLAAZINE (BHOIOI & 0] 2 ALY 2|
) 5,000, 0002 x23] 10,000
O+E=TE HA2I Y|
4,000,0002 13l 4,000
202 OfHl 8,400 0 8,400
CEEFEELT 8,400 0 8,400
Os442 25 493 &t
2,100, 0002 x2% +23] 8,400
301 LerEA3 14,400 21,400 AT,000
07 212reI=2l0)t| 8,400 0 8,400
OssMe +5 493 &t
2,100, 0002 *4% *25] ¥50/ 100 8,400
10 SAHAHIRAS 6,000 5,400 600
O+E=H5 & A 10,0002 %300 3,000
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SN SARED
MNZEH: = A
(=R I —

SN2 REST(sE ==
el A2 DY 2s (£ @8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
O+=XSoe $5HX At
60,0002 *50% 3,000
307 QI2H0IF 16,000 0 16,000
04 OIZNSALRE 16,000 0 16,000
042 2450t T4 16,000
—108H2 014 SItE A 1,000,000 *10%S 10,000
—QamBut 9 SIEA 300,000% <20 6,000
402 DI2FXHEOIF 410,000 360,000 50,000
01 ANLZE 410,000 360,000 50,000
OlHsaNE 45 SR N 255,000
—SNE 45 1,500,000, 0002 *15/100 225,000
—gaE 1,500,000, 00024 *2/ 100 30,000
ONYE EHWH N 100,000
—+Es42 2,0002 %100, 0000H 50/ 100 100,000
Os42 £5 STHYA 7 40,000
—0I=2SBEA 20,000,000 *13| 20,000
—JIEF SHAAE 20,000,0002! * 1] 20,000
O+E8 th AZ4+= ML
20,000,000 *141%50/100 10,000
045 JIZAE 72 TR NV
2,0002 *5,0000H*50/ 100 5,000
SASIBAY 2L AR 45,000 42,500 2,500
= 40,000
2 5,000
402 QI2XHZOIH 45,000 42,500 2,500
= 40,000
2 5,000
N EEES 45,000 42,500 2,500
OZHIBEA 45,000
~SMNSER DFE AAFAY
45,000,00024 45,000
= 40,000
2 5,000
SA2 MAD(E S Y £EEX 997,550 1,297,400 299,850
= 350,000
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SHFED
SM2 SEET(SYHLLM/SY - 55)
SAS MADIP B} U ABEF (S5 &)
_ _ SIEN
SM-EH . C(BH) - HRAY - B2 il i~ o bRz
SAS MADIB S U SEET = 192,000
= 455,550
Stt=E THIHE 22l 47,500 54,000 26,500
201 Lt 12,000 54,000 A42,000
01 AtR2teld 12,000 54,000 A42,000
ONEZ XBHEAIt SSM2 B2 Y2
1,000,000 x12& 12,000
401 AIEHIZL 20| 21,000 0 21,000
01 Al&HI 21,000 0 21,000
OBBN T SSHES BHH XA
5,000,000& 304 & 15,000
OBBT =¥ SSHES BHH S 6,000
—&M 1,000,000& *6IH 2 6,000
405 KHeHHE SHI 14,500 0 14,500
01 XML EESHSHI 14,500 0 14,500
ONSHGZAI} BSSSHE B2 &
Bl 7 10,000
—dsS 3,000,000& = 1CH 3,000
~YED 3,000,000% *1CH 3,000
—A& 2 4X 4,000,000 =14l 4,000
ONBTH BOHE BOHAIL = 4,500
—3=HE 1,500,000& *37| 4,500
"nAE6 A& 46,300 30,000 16,300
402 QIZEXE0|M 46,300 30,000 16,300
01 QtR=8x 46,300 30,000 16,300
Osa2 FAEG XA (OHES)
2,000& *30,00004*50/100 30,000
O yYsxaol HEEY 7Y
32,600,000 *50/100 16,300
sHE =5 =2 200,750 59,400 141,350
402 PIZHRIZ0IH 200,750 59,400 141,350
01 QX=X 200,750 59,400 141,350
OUANBSEEE LEAL BHAY
134,000, 000& x50/ 100 67,000
OANBHEHED A (MaS)
700,000& *25m *9= *50/100 78,750
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2
J2

2
R
J2H

Homn

40,000
30,000

02

D) (I1EH/IIE)

129,403

137,096

AT,693

14,623

31,042

A 16,419

8,540

11,200

A2,660

8,540

11,200

N2,660

3,300,000&

40,0003 26

350,000&~12&

3,300
3,300
1,040
1,040
4,200

4,200

3,000

2,320

5,880

300

21,280

A 1,680

e

6,083

19,842

A13,759

6,083

19,842

A13,759

200,000 »1H 128
30,0002 x1& =128

5,5383 1B« 128 «50Al 2t

6,083
6,083
2,400

360

3,323

3,811

2,272

114,780

106,054

8,726

114,780

106,054

8,726

61,860

58,054

3,806

1,700,000 26

180,000& 10«12

7,000 x26 % 25

20,0003 *3CH *22]

46,360
44,200
2,160
2,160
15,500
4,550
4,550
120

120

9,148

44,800

13,254

1,560

2,246
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2N sgdEL
M HESIZH (sSR=D)(IIEHIIE
@ Jl2Zl (&2 &2
_ ) _ PSIEl
A EH (SN - MEAY - B2 0 4 04 SR D=2
—22 3,290
- NZ(HE 25,000km0] &f)
3,290,000 = 1CH 3,290
—3t= 5,858
AE(HFSE 1E0I6F 25,000km0| Af)
2,929,000& *2[H 5,858
OXtEEE = 1,100
— 2832 300,000& *2CH 600
—S5EX= 500,000 +1CH 500
OXS XAl 582
—5EX=E 500,000 = 10CH 500
— 2832 41,0003 =20H 82
202 (44l 49,920 48,000 1,920
01 =2Woidl 49,920 48,000 1,920
O LA 100,000 *26H = 12& 31,200
o220 t| 60,000& x26H «12& 18,720
405 XHaHFESHI 3,000 0 3,000
01 T Z2EFSHI 3,000 0 3,000
OZet Zeled| 2 3,000,000 = 1CH 3,000
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